B3.  An organ pipe of length 0.250 m is open at one end and closed at the other. Calculate the

second-lowest resonant frequency. The speed of sound in air is 343 m/s.
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B4.  An electron is placed ina region of space where there is a

uniform electric field which is in the +y direction as shown. E
The magnitude of the electric field is 51.0 V/m. Determine
the magnitude and direction of the force on the electron.
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Calculate the diameter of a 2.00-cm length of tungsten filament in a small lightbulb if its
resistance is 0.0510 Q. The resistivity of tungsten is 5.65 x 10%Q.m.
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